RV Catalog, Math 464, Fall 2010
p is the mean, o2 is the variance, M (t) = E[e'*] is the moment generating function.
Binomial (2 parameters, p € [0, 1] and positive integer n) :

P(X =k) = (Z)pk(l—p)nk, k=0,1,2,....n

p=np, o*=np(l-p), M(t)=(pe'+1-p)"
Geometric (1 parameter p € (0,1]) :
P(X=k)=p(l-p)* 1t k=12...

t

1 9 1-—0p pe
=y 7 p? Q 1—(1-p)et
Poisson (1 parameter \ > 0) :
e Mk 9 .
P(X =k)= o k=0,1,2,... p=2x o°=X\ M(t)=exp(A(e" —1))
Negative binomial (2 parameters, p € [0,1] and positive integer n) :
k—1
P(sz):(n_l)p”(l—p)k_”, k=nn+1,n+2,...
n 2 _n(l—p) pe’ "
Exponential (1 parameter, A > 0) :
1 1 A
— \e 2 > - 2 M) = -
Normal (2 parameters, ; and o2 > 0) :
1 (v — p)? L 20
f(5) = — = o (—T M) = explut + 50%)

The standard normal is the special case of p = 0,0 = 1.
Gamma (2 parameters, A > 0, w > 0):




